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LHD # 47725 t=  1.225s 2004.01.08
B=-0.450T, Rax= 3.600m, = 1.220, Bg= 100.0%
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Calculated NBI deposition power profile by fit—real on SX and apsrv

Shot No. 47725 B = -0.450 [T] v = 1.220
time 1.225 [s] Rax = 3.600 [m] Bqg = 100.0 %
chshot= '47725', raxcg = 3.60e+000, ipg = 0,
chtime= '01225’, bax =-4.50e—-001,
inbil= 1, enbil = 177.56, pnbil = 1.00000,
inbi2= 1, enbi2 = 153.77, pnbi2 = 1.00000,
inbi3= 1, enbi3 163.46, pnbi3 =
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mfs file name
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0.5 T T
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— 0.5 e

N 40
,? 0.4 ’? 0.4 3.0 /W\
[} 0.3 o 0.3 20
= 0.2 = 02 ’
ot = ot 1.0
0.0 L L L 0.0k L 0.0E L L
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g g g
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0213: FITOOOOOONBIOOOOOOOOO

49




LHD # 47725 1=  1.225 s Ihd_047725_001225_v001

2004.01.08
B=-0.450T, Rax= 3.600m, y= 1.220, Bg= 100.0%
T '\_'}.-\--f"\"‘u\...\ T ‘ T ‘ T T ‘ T ‘ T ‘ T ‘ T
400 ¢ — 400 —
200 [— — 200 [— —
N')E | i N)E | i
~ - 1 = PSR ]
é op——m————— — é o <
a | a i 1
—-200 — =200 — —
—-400 — —400 [— —
[ ‘ [ ‘ [ | i [ ‘ [ ‘ [ ‘ [ ‘ [ |
T ‘ 1T ‘ 1T ‘ 1T ‘ T 1T ‘ 1T ‘ 1T ‘ 1T ‘ T
50 [— ] 50— —
E k=
~ ~
= =
= =
Q. o
_50 — —
[ ‘ [ ‘ [ ‘ [ ‘ [
0.0 0.2 0.4 0.6 0.8 1.0
p P
pECHe Peond e Pai Pcond
"""""" pNB\ pconv -0 -~ pcx pconv
- - - = prcd """""" pei
"""""" pei
7777777 pion

D214.0:000000000000:000000000000
00000000 -80~80kWmP 000000000000 00
T,=7,0000000000P;,=00000
O0OOECHOODO Peeg=00000
Py :NBIODOOOOOOOOOOOP,:00000P,:00000
P :NBIDOOOOOODOOOOOOP: 0000000
Pn:0000000000000P,,:00000000000

50



t= 1.225 s
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